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lnput: S O R T I NG E X A MP L
Divide: S 0O R T I N|G E X A MP L
Recurseleftt I N O R S T|G E X A M P L
RecurseRight: I N O R S T|A E G L M P X
Merge: A E G I L M NOPIRSTX
Tl —| MERGESORT(A[1..n]):
ifn>1
m «— |n/2]
Tl — MERGESORT(A[1..m]) {(Recursel))
TlalT>— MERGESORT(A[m +1..n]) ((Recursel))
O() — MERGE(A[1..n],m) Z0 )
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MEeRGE(A[1..n],m):
ie—1l; jem+1
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= ifj>n ~
Blk]<Ali]; ie—i+1
elseifi>m

Blk] —A[j]; j e j+1
—— else if A[i] < A[j]
Blk]—Ali]; ie—i+1
else
Blk] —A[j]; j e j+1
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Inputt S O R T I NG E X A MP L
Chooseapivot: S O R T I N G E X A M[P|L
Partition: A G 0 E I N L M[P|]T X S R
Recurseleftt A E G I L M N O[P|]T X S R
RecurseRightt A E G I L M N O[P|R S T X

QuickSoRrT(A[1..n]):
if(n>1)
Choose a pivot element A[p]
r « PARTITION(A, p)
QuickSoRT(A[1..r—1]) {(Recurse!))
QuickSorT(A[r+1..n]) ((Recursel))
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PARTITION(A[1..n],p):
swap A[p] <> A[n]
<0 ((#items < pivot))
forie—1ton—1
if A[i] < A[n]

l—€0+1

swap A[{] « A[i]
swap A[n] «> A[{ + 1]
return £ + 1




